Moto-All.ru

CITMCOK OETAJIEY NIJId "FRONT FORKS AND YOKES" TRIUMPH TT600

DRIVELINES

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

304849

© Copyraght Trumph Dessgas Lad



CITMCOK OETAJIEY NIJId "FRONT FORKS AND YOKES" TRIUMPH TT600

DRIVELINES

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 T2044402 CpoK 1mocTaBKH 0T 27 nHeH STANCHION ASSY,LH

2 T2044401 Cpoxk nocTaBKu 0T 27 gHel STANCHION ASSY,RH

3 2040071-T0301 Cpok noctaBku oT 19 gHen Top cap

4 T2020472 CpoxK IIoCcTaBKu 0T 27 mHel CIRCLIP, M'CYLINDER, REAR
4 2040072-T0301 Cpok noctaBku 0T 19 gHen Nut

5 2040081-T0301 CpOK TI0CTaBKH OT 27 gHEH '0' RING

6 2040082-T0301 CpoK moCTaBKu 0T 27 mHeH GUIDE, SPRING

7 T2040324 CpOK II0CTaBKH OT 27 gHEN SPRING

8 T2040318 CpoK IocTaBKu 0T 27 gHel CYLINDER

9 T2040317 CpOK II0CTaBKH OT 27 gHEN TUBE INNER

10 T2045083 CpoK IocTaBKu 0T 27 fHel BEARING, TUBE

11 T2040319 CpOK TI0CTaBKH OT 27 gHEN OIL LOCK

12 T2040323 Cpoxk IocTaBKu 0T 27 gHeH SEAL,DUST

13 2040079-T0301 Cpok 1ocTaBKH 0T 27 HHeH SNAP RING

14 T2040322 CPpOK IocTaBKu 0T 27 fHel SEAL,OIL

15 2040077-T0301 CpoK 1mocTaBKH 0T 27 HHeH WASHER, OIL SEAL

16 T2045085 Cpoxk 1ocTaBKu 0T 27 gHel SLIDER BUSH

17 T2040316 Cpok 1mocTaBKu 0T 27 gHeH TUBE OUTER,LH

18 T2040315 Cpoxk nocTaBKu 0T 27 fHel TUBE OUTER,RH

19 2040074-T0301 CpOK IIOCTaBKH 0T 27 gHeU SEALING WASHER

20 2040075-T0301 CpOK II0CTaBKH OT 27 gHEN CAPSCREW, OIL LOCK
21 T3050133 CpoK IocTaBKu 0T 27 gHel SCREW,M8X1.25X35,SS
22 T2044420 CpOK II0CTaBKH OT 27 gHEN YOKE ASSY,LOWER

23 T3800047 CpoK IocTaBKu 0T 27 fHel ];g)?;(;}l;]lGéTAPER ROLLER
24 T2040241 Cpok mocTasky ot 27 fHeit NUTASSY LOWER DIAGS
25 T2140210 CpoK IocTaBKu 0T 27 gHel ADJUSTER NUT,UPPER
26 T2044410 CpoK 1ocTaBku 0T 27 gHeH TOP YOKE ASSY

27 T3050132 CpOK II0CTaBKH OT 27 gHEN (S:/%PSCREW’ M8 X 1.25X 25,
28 2040061-T0301 CPpoK IocTaBKu 0T 27 gHel WASHER

28 T2040061 CpOK II0CTaBKH OT 27 gHEN WASHER

29 T2040060 Cpok nmoctaBku oT 19 nHelt Nut

29 2040060-T0301 Cpok mocTaBku 0T 19 mHei Nut, Closed, Upper Yoke
30 3700025-T0301 Cpoxk 1ocTaBKu 0T 27 gHeH CLIP, CABLE RETAINING
30 T3700025 CpoK 1ocTaBKH 0T 27 nHeH CLIP, FORK STANTION
31 T3700062 CpoK IocTaBKu 0T 27 fHeH CLIP CABLE, FIRTREE
32 T2042839 CpoK 1ocTaBKH 0T 27 HHeH SHROUD, FORK, LH

33 T2042844 Cpoxk 1ocTaBKu 0T 27 gHel SHROUD, FORK, RH

34 T3330706 Cpok 1mocTaBku 0T 27 HHeH BOLT, M6X18




35 T3350028 CpOK MOCTaBKH OT 27 gHe NUT,M6%*1.0,STAINLESS 2
Kit, Reflector, Amber. US, TW,

36 T2701237 Cpoxk noctaBku 0T 19 nHelt CA & AR - Kit Contains 2 1
Reflectors

36 T2700237 CpoK IoCcTaBKu 0T 27 mHeH REFLECTOR,AMBER,ADHESIVE 2

37 A9910053 Cpok mocTasky ot 27 AHei M8 x 30 §/S SKT CAP HD 4

DIN912




